Proportionalitat
3h=240km
1h=80km

3,5h=280km

100% = 90Euro
1% = 0.90Euro

8% =7.20Euro

[WOT=|2T

[WOOT=IP0T=IPT
[WO00.T=I1900T=IPOT=IT
[3000.0T=IP000.T=100T=IUT
WWOT=WoT
WWQOT=WOQT=WpT
WwwQ00,T=WwoQ0T=WpOT=WT
wQo00, T =WAT
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Geometrie Mathematik

Quadrat geschrieben von

Fabienne Dauscher
U=4*a F=a*a

Rechteck

U=2*a+b F=a*b
Dreieck

U=atb+c F=g*h:2
Hypotenuse

2 =C und dann Wurzel ziehen

Kathete a2* P
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Biuyeuydia|b JaUUsNY/T-2/T 6=c+9 =(€-)-9
usyoew €=¢-9 =(¢+)-9

Biwyeuyos|b JSUUBNY/T+G/T

T=t-G =(¥-)+S
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